#CE€E€-,8 €T/ WWEYB-H09

EN-INSTRUCTION MANUAL
ES-MANUAL DE INSTRUCCIONES

FR-MANUEL D’'INSTRUCTIONS
DE-BENUTZERHANDBUCH
IT -MANUALE DI ISTRUZIONI

2

T () () (SR

v LV

Pitch Roll Rotate Diskomect
o b
i ® e
e > MAX.LOADING
: = 10 kgs(22Ibs)

PBO8XL




P DISCLAIMER - WARNING INFORMATION

WARNING:FAILURE TO READ,THOROUGHLY UNDERSTAND,AND FOLLOW ALL
INSTRUCTIONS CAN RESULT IN SERIOUS PERSONAL INJURY,DAMAGE TO
PERSONAL PROPERTY,OR VOIDING OF FACTORY WARRANTY!

It is the responsibility of the installer to ensure all components are properly assembled and
installed using the instructions provided.

If you do not understand these instructions or have any questions or concerns,please
contact customer service.

Do not attempt to install or assemble this product if the product or hardware is damaged or
missing. In the event that replacement parts or hardware are needed, please contact
Customer Service.

International customers needing assistance should contact the Dealer from which they
purchased the product.

» ESPANOL

ADVERTENCIA:NO LEER,ENTENDER CABALMENTE O SEGUIR TODAS LAS
INSTRUCCIONES PUEDE DERIVAR EN LESIONES GRAVES,DANOS MATERIALES O
LA NULIDAD DE LA GARANTIA OTORGADA POR EL FABRICANTE.

Es responsabilidad del instalador comprobar que todos los componentes estén correcta-
mente ensamblados e instalados segun las instrucciones provistas. Si usted no entiende
estas instrucciones o si tiene dudas o preguntas, comuniquese con Atencion al Cliente.
No instale ni ensamble el producto si éste o las piezas suministradas presentaran dafios o
si faltara algun elemento. Si necesita repuestos o piezas, comuniquese con Atencion al
Cliente.

Si reside en otro pais, comuniquese con la tienda donde compro el producto.

» FRANCAIS

ATTENTION:SI VOUS NE LISEZ,NI NE COMPRENEZ,NI NE SUIVEZ SOIGNEUSEMENT
TOUTES CES INSTRUCTIONS,IL POURRAIT S’ ENSUIVRE DES BLESSURES
GRAVES,DES DOMMAGES MATERIELS OU L’ANNULATION DE LA GARANTIE!
L'installateur est responsable de s’assurer de I'exactitude de 'assemblage et de
l'installation de toutes les composantes, conformément aux instructions fournies. Si vous
ne comprenez pas ces instructions ou pour toute question ou probleme, veuillez contacter
le service a la clientéle.Si le produit est endommagé ou que des fixations sont manquantes
ou endommageées,n’installez pas le produit.Si vous avez besoin de piéces ou de quincail-
lerie de rechange, veuillez contacter le Service a la clientéle Pour les clients internationaux,
contactez le détaillant auprés duquel vous avez acheté le produit.

i

<@
(o
&)

option

(Jomm

A-B




/@ 45mm(1.8")
——

iz&mm (031

Concrete
Ceiling

M5x45

®18x6.5x1.5

Plastic anchor

[r—
M5x45
30mm(1.2")
=3
23mm(0.12"; ®18x6.5x1.5

OR

» DEUTSCH

WARNUNG: LESEN SIE DIESES HANDBUCH SORGFALTIG DURCH UND BEFOLGEN
SIE DIE ANWEISUNGEN. EINE NICHTBEACHTUNG DERSELBEN KANN ZU SCHWEREN
VERLETZUNGEN, SACHSCHADEN ODER ZUM ERLOSCHEN DER WERKSGARANTIE
FUHREN!

Die Person, die die Montage vornimmt, hat sicherzustellen, dass alle Komponenten
entsprechend den hierin bereitgestellten Anweisungen korrekt montiert und installiert werden.
Sollten Sie diese Anweisungen nicht verstehen oder irgendwelche Fragen oder Zweifel
diesbezliglich haben, kontaktieren Sie bitte unseren Kundendienst.

Versuchen Sie nicht, die Wandhalterung zu installieren oder montieren, wenn sie beschadigt
ist oder ein Befestigungsteil fehlt. Bei Bedarf an Ersatz- oder Befestigungsteilen kontaktieren
Sie bitte unseren Kundendienst.Kunden im Ausland sollten sich bei Bedarf an Hilfestellung
an den Handler wenden, bei dem sie das Produkt erworben haben.

p ITALIANO

AVVERTENZA: LA MANCATA LETTURA, COMPRENSIONE COMPLETA, OSSERVANZA
DI TUTTE LE ISTRUZIONI PUO COMPORTARE GRAVI LESIONI PERSONALI, DANNI A
COSE O INVALIDARE LA GARANZIA DI FABBRICA.

E responsabilita dell'installatore assicurare che tutti i componenti siano assemblati e installati
correttamente, mediante I'utilizzo delle istruzioni a corredo. Nel caso in cui sorgessero
incomprensioni in merito alle presenti istruzioni oppure per domande o problemi, si prega di
contattare il servizio clienti al.

Non tentare di installare o assemblare il prodotto se il prodotto stesso o i componenti
risultano danneggiati o mancanti. Nel caso in cui fosse necessario sostituire parti o
componenti, si prega di contattare il Servizio Clienti al | Clienti internazionali che necessitano
di assistenza possono rivolgersi al Rivenditore presso cui & stato acquistato il prodotto.

TOOLS REQUIRED NOT INCLUDED

o)




CONTENTS

4 R
A (Jormm (o
M4x16 (x4) M4x40 (x4)
B ] ]
M6x16 (x4) M6x40 (x4)
c [ %
D18x6.5x1.5(x2) M5x45(x2) Plastic anchor(x2)
o T———V= D)
c (S (rmm
®15x5.3x1.2(x4) 5 (x4) M5x16 (x4)
E % M3 (x1)
% M6 (x1)
N\ J





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




